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Simultaneous Equations

+ 2y = 17
+2y =29
-6y =-13
+3y =52
+6y =69
-2y =-16

- 3y = 34
+4y =50

+ 3y = 57
—2y =52
—3y =128
+ 12y =-37
+4y =564
-2y =-—114
+3y =622
—y =255

- 3y = —-112
+4y =-49.2
— 3y = —478
+ 3y =-30.6
—2y =85
+ 3y =113

— 5y = 665
— 3y =427

1

3x+2y—3z=4
dx + 2y —4z = -2
5x -3y +6z=36

7x — 3y + 4z = 57.5
9x + 4y — 5z = —26.5
8x —5y+2z=126

6x +2y—3z=-9
4x + 3y + 2z = —34.2
9x —4y + 6z = —78.6

—3x+4y—-3z=-17
6x —3y + 2z =51
11x — 3y + 2z = 106

w+3x—6y+3z=1.38
4w + 5x — 9y — 5z =39.8
Ow —6x + 11y + 4z = 24
Sw+1lx -2y +9z =72.2

8v+3w—-2x+4y—3z=128
6v + 4w + 3x — 2y + 5z = 128
v—6w+4x+7y—2z=60
3v+9w —9x + 3y — 6z = —60
7v+4w +5x —8y + 3z =76



